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DO NOT WRITE ON THE BLUE TABLES. RETURN THE BLUE TABLES WITH YOUR EXAM. DO
NOT STAPLE THE EXAM SHEETS TOGETHER. Put your answers on the same sheet as the question,
Use many digits in your computation. You must give the units of your answers. You must write clearly.
Encircle the right answer number in multiple choice. To correct, erase the wrong circle as well as you can
and encircle the corrected answer number twice. Best possible answer for multiple choice. For questions
asking a number, putting the clear correct formula(s) below the question might result in partial credit even
if the answer is wrong. Not following those requirements will result in reduced or no credit.

1. (5%) A manometer filled with light oil, and at one end open to the atmosphere, shows a deflection of
20 cm. The gage pressure being measured is 1.785 kPa

2. (5%) A piston with a weight of 300 N and a diameter of 5 cm seals a substance in a cylinder. The gage
pressure inside the cylinder is 152.788 kPa.

3. (5%) Which of the below information would be sufficient to figure out the pressure, temperature, and
volume of water:

(a) Pand V.

v and x

(¢) T and m

4. (5%) 5 kmol of di-atomic oxygen has a mass of 160 kg

5. (5%) Saturated liquid is contained within a constant pressure piston-cylinder container. If the temper-
ature is raised just a little bit, it turns into:

(a) compressed liquid.
(b) liquid-vapor mixture.

vapor.

6. (5%) The air pressure in Potosi, Bolivia, is about 61 kPa. Water will boil there at 87 °C

7. (5%) Liquid water at 50 MPa and 20°C will have a density of 1020 in units of kg/m® .
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8. (33%) A rigid container is filled with water initially at 15°C and 50 m3/kg. The temperature is then
changed until the water turns into saturated vapor.

(a) Construct the initial phase of the water in a very neat Twv-diagram, marking all lines and points
used to do it with their values.

(b) Give the initial pressure and quality, and the final temperature and quality, where defined, to as
many digits as possible.

(c) Show the process in a very neat Tv-diagram.

Ttems are not equal credit.

You must show the derivations and reasoning completely and correctly for full credit. You must give
units for your answers. Most accurate procedure only unless stated otherwise.

2/3



F16:27 J4 762 Lt 6P
éeWm i ﬁ‘pﬂﬁﬁ 1A TP 2154

ﬂ‘%&m.ﬂ, N
O w ’(2:) Sc‘xﬂ V‘:‘P 5 o=t (y:ugj

i C -E—(angn;\{uw (-&m«d-y .
e ; o e " :-'S”Un/ﬁ
5" MZ% o chavt I K F_/z_vi .

M o) Liazls 0140 falllnau I B
Qv) Lot pv et
&) Tl il ‘MMA vgs;&x o&deh & ceanncy
4) g SRA i v ij@ﬁiiew-rﬁw
€) Proces v TV i @ o ook pra o

: PVU{“.M'.) i @
SHOQM—L—E“ T ';.'" : /,&D sohunld moctns

e Lp‘hm:

: ~ A v
L b_pﬁ‘v' s
2 v 2 awi Bl
B é*‘“*’
g Iy
.4 5,
& h’}\

szf 5 \{af:..yal:{jw’u(r"m/i

T v Bjjafs

(A_) J[ww pe jos| < §0 < 7? ‘?35"

6) LT — L_M
w/
C) u:uerOt(u —ur) th g

50 =000lcol + X (F4 L5 — 0 0ol661)
= = (YU _o- o;iwu!)//?? gis ~6-001001) =

= 0-b4 463800
d g=s0"y s §=s6"l 5= 57-?5*’?}[ g2 =43 jzfﬁz‘
: 9‘ =28 dy=2% &
T=ni4 H (d-4)= 2.3°C S i
45 558 Spughy =—— il

3/3



EML 3100 Exam 1 THERMODYNAMICS 1/29/07 11:45-1:00 pm
Page 4/3 Solutions (dommelen@eng.fsu.edu) series a

9. (32%) A pressure vessel with a volume of 2m? contains 3 kg of a gas with a molecular mass of 23 at
15°C.
(a) Give the pressure in atmospheres to at least 5 digits assuming that it is an ideal gas.
(b) What is the gage pressure if the ambient pressure is 1 atm?

(¢) What can you say about the ideal gas assumption if all you know about the critical quantities is
that the critical temperature is 150 K?

(d) What can you say about the ideal gas assumption if all you know about the critical quantities is
that the critical pressure is 10 MPa?

Items are not equal credit.

You must show the derivations and reasoning completely and correctly for full credit. You must give
units for your answers. Most accurate procedure only unless stated otherwise.
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